Pole pow. HUMUS ISTN. = 0,00m2

Pole pow. HUMUS PROJ. = 0,00m2

Objetosc HUMUS ISTN. = 0,003

Objetosc HUMUS PROJ. = 0,00m3

Pole pow. HUMUS ISTN, = 0,00m2

Pole pow. HUMUS PROJ. = 0,00m2

Objetosc HUMUS ISTN. = 0,00m3
Objetosc HUMUS PROJ. = 0,00m3

Pole pow. HUMUS ISTN, = 0,00m2

Pole pov. HUMUS PROJ. = 0,00n2

Objetosc HUMUS ISTN. = 0,00m3
Objetosc HUMUS PROJ. = 0,00n3

Pole pow. HUMUS ISTN. = 0,00m2

Pole pow. HUMUS PROJ, = 0,002

Objetosc HUMUS ISTN. = 0,00m3
Objetosc HUMUS PROJ. = 0,00m3

Pole pow. HUMUS ISTN. = 0,00m2
Pole pow. HUMUS PROJ. = 0,00m2

Objetosc HUMUS ISTN. = 0,00m3
Objetosc HUMUS PROJ. = 0,00n3

Pole pow. HUMUS ISTN. = 0,00m2
Pole pow. HUMUS PROJ. = 0,00m2

Objetosc HUMUS ISTN. = 0,00m3
Objetosc HUMUS PROJ. = 0,00n3

Pole pow. HUMUS ISTN. = 0,00m2

Pole pow. HUMUS PROJ. = 0,00m2

Objetosc HUMUS ISTN. = 0,003

Objetosc HUMUS PROJ = 0,00m3

Pole pow. HUMUS ISTN. = 0,00m2

Pole pow. HUMUS PROJ. = 0,002

Ddleglose

Dojetose
Dojetose

Ddleglose

Dojetose
Dojetose

Ddleglosc

Dojetose

Tojetose

Ddleglose

Dojetose

Dojetosc

Ddleglose

Oojetosc
Tojetost

Ddleglosc

Dojetose

Dojetose

Dlleglost

Dojetose

Do jetost

WyKaP
NASYP

WyKaP
NASYP

WyKaP
NASYP

WYKOP
NASYP

WyKar
NASYP

wWYKOP
NASYP

wWYKOP
NASYP

= 13,00m

= 3.,15n3
= 5,56n3

= 7,00m

= 11,62n3
= 518n3

= 20,00n

= 22,50m3

=19,3Im3

= 9,00m

= 6,22m3

= 6,73n3

= 17,00m

= 49,61n3
= 1,62n3

= 8,00m

= 59,64m3

= 0,03n3

= 345n

= 29,55m3

=0,71n3

Pale pon.

Pale pon.

Pale pon.

Pale pow.

Pale pow,

Pale pon.

Pale paw.

Pale paw.

Pale pow.

Pale pow,

Pale pow.

Pale pon.

Pale pon.

Pale pon.

Pale pon.

Pale pon.

WYKDP = 322m2
NASYP = 0,00m2

WYKDP = 1,57m2

NASYP = 0,85m2

WYKDP = 1,75m2

NASYP = 0,63n2

WYKDP = 0,30m2
NASYP = 1,30n2

WYKDP = 0,88m2

NASYP = 0,19m2

WYKDP = 4,95m2
NASYP = 0,00m2

WYKDP = 9,96m2
NASYP = 0,01m2

WYKDP = 7,17m2
NASYP = 0,41n2
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Skola pionowa 1100
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PIK. 49,00
Skala pionowa 1:100
Skala pozioma 1100
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PIK. 66,00
Skala pionowa 1:100
Skala pozioma 1400
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